I can calculate fractions and percentages of quantities. 
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(@ seventy-five per cent of a bag of
sand has not been used. 4-5kg
has been used. How much sand
was in the full bag?

(© Damell has £160. He spends
three eighths of his money
in one shop and 30% of itin
another. How much has he
spent?

(® One 150 mi glass of drink is 5%
of the amount in a jug. How
much drink is in the full jug?

€D shannon is cycling 70km. She
rides a quarter of the distance
in the first hour and 20% in the
second hour. How far has she
cycled?
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Four children in a class were asked to
find 20% of an amount, this is what they

did:
| divided by 5 because
20% is the same as one

09
S
Whitney

| found one percent by
dividing by 100, then |
multiplied my answer by 20

s
1 did 10% add 10%

Alex

| found ten percent by
dividing by 10, then |
multiplied my answer by 2
Who do you think has the most efficient
method? Explain why.

Who do you think will end up getting the
answer incorrect?

o]
Jack
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How many ways can you find 45% of 60?
Use similar strategies to find 60% of 45
What do you notice?

Does this always happen?
Can you find more examples?
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Examples
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